Hello Andrea,

You have shown the plot from my EGU talk where it appears that the performance improvement decreases significantly at 15 s switching interval.  Unfortunately, there are no error bars on the plot, and I think it is likely that the turn-up at the end of the plot could be statistical.  Recall that although I believe you used 250 repeats for this analysis, we used only 25 for all previous analysis.  Anyway, the EGU plot is entirely based on OCCAM results.  Below is the plot from St. Petersburg showing results for Solve, OCCAM and PPP assuming 1_5 schedule optimization.  In this plot, you get a better feeling for the uncertainties assuming relationships are linear, and it is no longer as clear (at least to me) that there is a turn-up at 15 s. 

Best regards, -Bill.
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		switch interval		OCCAM 0_0		OCCAM 1_5		Solve base		PPP best

		15				0.86		0.96		0.676

		30		0.95		1.1		1.22		0.767

		45		1.28		1.33		1.53		0.995

		60		1.52		1.75		1.64		1.095

		120		3.38

				0.019		0.0193		0.0157		0.0099		slope

				0.395		0.535		0.75		0.512		offset

		accuracy (mm)

		0.6		10.7894736842		3.3678756477		-9.5541401274		8.8888888889

		0.7		16.0526315789		8.5492227979		-3.1847133758		18.9898989899

		0.75		18.6842105263		11.1398963731		0		24.0404040404

		0.8		21.3157894737		13.7305699482		3.1847133758		29.0909090909

		0.9		26.5789473684		18.9119170984		9.5541401274		39.1919191919

		1		31.8421052632		24.0932642487		15.923566879		49.2929292929

		1.1		37.1052631579		29.274611399		22.2929936306		59.3939393939

		1.25		45		37.0466321244		31.847133758		74.5454545455

		1.5		58.1578947368		50		47.7707006369		99.797979798

		1.75		71.3157894737		62.9533678756		63.6942675159		125.0505050505

		2		84.4736842105		75.9067357513		79.6178343949		150.303030303

		Patriot

		45.11		1.25209		1.405623		1.458227		0.958589		1

		21.78		0.80882		0.955354		1.091946		0.727622		2

		13.64		0.65416		0.798252		0.964148		0.647036		3

		9.68		0.57892		0.721824		0.901976		0.607832		4

		Wettzell

		23.25		0.83675		0.983725		1.115025		0.742175		1

		11.34		0.61046		0.753862		0.928038		0.624266		2

		7.47		0.53693		0.679171		0.867279		0.585953		3

		5.54		0.50026		0.641922		0.836978		0.566846		4

		1.458227		1.091946		0.964148		0.901976				Solve - Pat

		1.115025		0.928038		0.867279		0.836978				Solve - Wett

		1.405623		0.955354		0.798252		0.721824				OCCAM - Pat

		0.983725		0.753862		0.679171		0.641922				OCCAM - Wett

		0.958589		0.727622		0.647036		0.607832				PPP - Pat

		0.742175		0.624266		0.585953		0.566846				PPP - Wett

		0		45.1		23.24		0

		1.405623		45.11		23.25		0.983725

		0		1.405623		0.983725		0		0

		45.11		1.405623		0.983725		23.25		75

		0		21.77		11.33		0

		0.955354		21.78		11.34		0.753862

		0		0.955354		0.753862		0		0

		21.78		0.955354		0.753862		1.458227		75

		23.25		0.983725				11.34		0.753862

		45.11		1.405623				21.78		0.955354
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